DESCRIPTION:

HIGH DENSITY - MACHINED

CONTACTS - VERTICAL

MATERIALS AND FINISH:

SHELL: STEEL MATERIAL, NICKEL FINISH
C +0.010 INSULATOR: (SEE CHART) = 260°C,
- UL 94V-0 RATED, BLACK
CONTACT MATERIAL: COPPER ALLOY
B £0.010 CONTACT FINISH: SELECT GOLD PLATING
— 0.156
A £0.010 ELECTRICAL:
SEE — :0633170[863% CONTACT CURRENT RATING: 3 AMPS
HARDWARE PIN 1 ——{ |~ D 010[0.25] CONTACT RESISTANCE: 10 MilliOHMS Max.
OPTIONS \ [ N DIELECTRIC WITHSTANDING VOLTAGE: 1,000VAC Min.
( . L AR N INSULATION RESISTANCE: 5 GOHMS Min.
@ 11—000.0000000;//000.0 TEMPERATURE RATING: -55°~+125°C
\....“..'..... (B B N X N ] O)
= [ N N I NN NN NN N (X N B N N J T
1 - -
N [ € —— 1_8|QMYY IXYRYYY
10° I SERIES
0.031 [0.80] MACHINED CONTACTS
0.492[12.50] +0.008 [+0.20] POSITION
+0.010 [+0.25] 15
0.240 [6.10] 26
44
62
GENDER
doodoooooo)y)yooo 1 = MALE
X =CONTACT LENGTH
| i f 1= 0.256"
\ A =0.140"
SHELL PLATING
0.433 [11.00 @0.026 [©0.66] 3 = NICKEL
.01 2[[10 30]] — 0.205 [5.20] RoHS (HIGH TEMP.) 260° PROCESS
. : 0.256 £ 0.006 ! REF. HARDWARE
00 =@ 0.120" HOLE
01 = 0.098" 4-40 INSERT, BOARD SIDE
02 = 0.250" 4-40 INSERT, BOARD SIDE
03 = 0.250" 4-40 INSERT, MATING SIDE
05 = 0.224" 4-40 BOARD LOCK, BOARD SIDE
DIMENSIONS (|N) 08 = 0.228" BOARD LOCK, BOARD SIDE
91 = 0.224" BOARD LOCK, BOARD SIDE
No. OF !
PNs | A B c D |"MareRas 0.189" SCREW LOCK, MATING SIDE
15 0.665 0.984 1.213 0.090 PAST CONTACT PLATING
16.90 25.00 30.80 2.29 1 =GOLD FLASH, ENTIRE CONTACT
6 0.994 1.311 1.543 0.090 PAST 2 =30u" GOLD, ENTIRE CONTACT
25.25 33.30 39.20 2.29
o[t | ez | 208 | 0000 | - DO NOT SCALE FROM DRAWING
. . .0 . :
38.95 | 47.05 | 5305 2.29 THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE 03-16-07
62 2181 | 2500 | 2.732 009 | paeT THE PROPERTY OF NorComp AND SHALL NOT C. SMITH -16-
BE REPRODUCED, COPIED OR USED AS THE
9540 63.50 69.40 241 BASIS FOR THE MANUFACTURE OF SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
1:1 1 3 9
ReRS COMIPLIANT oroom WG
180-MYY-11YRYYY




DESCRIPTION: CLINCH NUT HARDWARE |

TOLERANCE:

ALL DIMENSIONS ARE £0.010

ALL CLINCH-NUTS ARE 4-40 INTERNAL THREADS

05X ..... 0.224" BOARD SIDE - CN10

0.267 [6.78]
REF

0.224 [5.69] J

REF

01X..... 0.098" (BOARD SIDE) - CN1

0.141 [3.58]
REF

0.098 [2.49]
REF

ReRS COWIRLIANTT

08X ..... 0.228" BOARD SIDE - CN10 91X ..... 0.224" BOARD SIDE
0.189 MATING SIDE
CN10/SFS04404

0 189 [4.80]
REF _0.456 [11.58]

0.271[6.88] REF

REF

0.228 [5.80] J 0.224 [5. 69]
REF REF

NOTE: 4-40 FEMALE SCREW LOCK IS REMOVABLE

02X ..... 0.250" (BOARD SIDE) - CN2 03X..... 0.250" (MATING SIDE) - CN8

0.250 [6.35]
0.293 [7.44] ‘ r REF

REF
1!

0.293 [7.44]
0.250 [6.35] REF
REF
THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE: 02-12-08
THE PROPERTY OF NorComp AND SHALL NOT C. SMITH —lé-
BE REPRODUCED, COPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OF SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV

NOrCOmp e 18OMYYj1YR:YY 9




DESCRIPTION:

LAYOUT - HIGH DENSITY - MACHINED CONTACTS - VERTICAL

.5045
4995
4045
3095
.2145

1195
.0245

984
492
215 ——
.145
125 126 DIA. %
* PIN 1 \05; +0.002
.03 1
\\‘oJaoo
O 00000
% .043 DIA. —/'T I 010 F
;]—‘ .080 g @
— -100 * %
170
— |~ 190
15 POSITION
2.500
9745 1.250
~——"o 8795 9255
[~—o .7845 .8305
|=— .6895 —==— 7355 —
.6405
5455
4505
3555
.2605
g .1655
Ey 0705
ooooooooon:ooooooooo
(O ©00000000000d0000000000 O
0000000000POOOO0OO0OO
o72 mps 023
= 118
167 213
262 .308
.357 403
452 498
547 .593

=— .642 —

~— .688 —

737
.832

.783

.878

.927

.973

62 POSITION

.385
.295
.205
115

.025

1.312
656 ——
335
245
.155
-1 065
ololo o| blolololo
O 0000 (Eo?ooooooo O
I .020
1 <
070 " 110
.160 .200
250 —p~ .290
.340 .380
26 POSITION

475
.385
.295
.205
115

.025

1.852

~— .655 926

|=— 565 ——t=— .605 —

ololo o| blolololololo
O 0000000 cfloooooooooooooo O
I .020

1 <
070 — 110
.160 .200
.250 .290
.340 .380
430 470
520 .560
=— .610 ——t=— 650 —=
44 POSITION

515
425
335
.245
155
.065

% TYP. ON ALL SIZES

DO NOT SCALE FROM DRAWING

180-MYY-11YRYYY

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE 03-16-07
THE PROPERTY OF NorComp AND SHALL NOT C. SMITH -10-
BE REPRODUCED, COPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OF SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
Iﬁ]f] 1:1 3 3 9




